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Mechanical : Longitudinal Mobile phone sends and receives the message in the
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The symbol to denote diode isi
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A+Z Z+N Generally an atom is representgd by the symbol:
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t resistance of the circuit is:
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Sound energy Heat'€fiergy ), | Potential energy | Kinetic energy |The shock absorbers damp the vibrations and
convert their energy into of the oil.
ESA | 6
SHe fHe H f(il?owmg nuclear reaction: -
YEl i} +!3H e Un + Energy
E ey LY
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7_2: O 2 If the mass of spring mass system is doubled, then
__|itstime period becomes:
Wm Wm? Wm™! Wm2 | eI 8
| The unit of intensity of sound is:
n= < sini =sint = sin‘i‘ n= _smr :q_.u.v’_ﬁ'b/gﬁ-“ 2
v sint sini Snell's Law is:
9x 10°Nm2C 2 9x109Nm2C? [ 9x10°Nm2C? | 9x10°Nm=2C2 ‘ :?"“ﬂ_{k S A | 10
The value of k in Coulomb's Law is:
X=A+B | X=AB X=A-B X=A+B el
' Boolean expression of NOR gate is:
Ne=10N, | v=2 | L=10f, | N=De  m0eduEl |
1 1 The turn ratio of a transformer is 10. It means:
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( Part-1 Jyl 4aa )
Werite short answers to any FIVE parts. FBO’ crl_za -éoglﬁ/ﬁé;lms,&c_tgf
State Ohm's Law and write its mathematical equation. ~ab, ..-.I;PQLJJJI;JI.;.’,{ uyuﬁl?(ﬁsi (i)
i )dﬁ'..ﬁt{-ﬁ;: -éﬁ)@ﬂ&)ﬂﬁbﬂiyy (ii)
Differentiate between conductors and insulators. Give an example of each. :
Write the equation of Gamma decay for cobalt $3Co. _éfalsl/JJ‘f& L= %CD (iii)
Define electromagnetic induction. -é:r ‘..-,-,’/.U/uﬂ}l...@%)gl (iv)
e yinquidnd g £le i oS gl )

How the force acting on the armature be affected by increasing the strength of the magnetic field?

Write two properties of alpha and beta particles. -8 :-L-r‘;utf?gxl;f_f.w'lﬂ:' (vi)
Complete the given reaction: én + 23;{) — l;éBa i S [ :5_’,{ J‘?u"gld;éé,.i (vii)
What is the difference between a generator and electric motor? Y J/’L/’LC tﬂ;ﬂ)r;}-.g (viii)
Write short answers to any FIVE parts. -J:-.«le Lleéga..Jf
How the depth of sea can be measured by ultrasound? ur é/lr’)i’” Ji,p" Jw‘éﬁc_uJﬁblﬂl (i)
Sound is a form of wave. Give its reason. -c’f.:sJu'l _q_‘ﬁ.g(!g, 23 (i)
Define capacitance and write its unit. _é kL fulé .._.g_J/-U/Jf gﬁr (iii)

<t 0.5m 5% 300mET e S BE TE Jie Gy
Calculate the frequency of sound waves of speed 340ms=! and wave length 0.5m.

SO S bR S AL e p )

Does each capacitor carry equal charge in series combination? Expldin briefly.

Define internet and write its two services. __£; f.:«w»d'w»g{ ] /'"J..g._._;/m (vi)

Write two advantages of electronic mail. & ans €144 (vii)

Is electric intensity a vector quantity? What will be itsilirection? ?Jngy&f 1 ?:‘_,wﬁ,‘-{,.{- § "J'J)':/"ll._f (viii)
. 7 -y

Write short answers to any FIVE parts. ..é..«-.u.—z/&tz:égc_df

Distinguish between longitudinal and transvefse wave with diagram. -/ l::;'ff_i_lig})(){s;ﬂ:gbﬂw:-"l} (i)

8m =8/ 6 BEehyset sitih il iy
Find the time period of simple pendulum of 1m long on moon if Em = ge /6.

Define principle axis and focal [éhgih A b B Gin
Define reflection of light andhdrawhitd diagram. e SN i S (iv)

What is difference'betweenireal @nd virtual image? e J)L_J’UL»;JZ@J},A;;IJ"? )
Draw a symbolic diagram for OR gate and write its truth table. .af J’p’;}b"/bsl’e. I:crl)’Llio? ke OrR (vi)
Define analogue quantitics and give an example. -EnlE i S Sk (vid)

Whatgis nfeant By Boolean Algebra? Sl e A (vili)

A 09 L g felinlctrne §f g acan
Part - II, Attempt any TWO questions. Each question carries 09 marks.
. .,gf_:gbc_.rif_[,lidbplﬁ_d; ?q'_:ygc_&g‘:}?l ()
What is meant by electromagnet? Explain the function of relay with diagram.
?Lfmj‘ta&ﬂu"j:wz.:_&/w?np{ﬁ/ LSAc YN -910vm‘-};d’%ld!)|£}f3fb§ L)
By applying potential difference of 10V across a conductor, a current of 1.5A passes through it.
How much energy would be obtained from the current in 2 minutes?

BB S DE g1y Ea300 St ST ()
What is meant by noise pollution? Write its effects and methods to minimize it.
LAy 2C ¢ pH e bonst Bty 0.03C (T Tl g b i S 6V ol 300 (L)
?Z.u_m(»éln Z(_:J_ L

A capacitor holds 0.03C charge when fully charged by a 6V battery. How much voltage would be

required for it to hold 2 Coulombs of charge?

' h.bé;:ic._uJJMM&:J&}U@FQALJ{J ()
Explain with the help of activity that waves are carriers of energy.
- P B ety il 120m o 8em SRS A o demieaS AL (L)
An object 4cm high is placed at a distance of 12cm from a convex lens of focal length 8cm.
Calculate the position and size of the image.
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